Eri 286 H6H
SUSKTSAVY—F M10 HBHANGESESE
B2 *x

aAVH ) — FRAFRIZEEEINSUSKTSA vH— M1 RYE-YDHBHANBEIL. BABEFLSRESHELE
RETIEHDEBEMNT o h—FRIL bDFRFTESEL L. ROKXTEESINS,

(1) Qa1 = 1" 0" Ay XKL FOHBHABHEN)
(2) Qaz = 1" c0qa"cAi  XEELEIVY - MEBOXEREICE DA VP — FFBREABFEN)
@) Qaz = @10 Ag XEFELzaVY ) — MRAEOI—VRBIBIC K 54 V9 — MR EABEE )
Q@ = Min(Q.; 0.y, 0.0 XEEOS55, BINOHEEEHBLAMHELT S
¢, - EEFER (EHFEER1/3 SHMEER 1)HX-1/2 H-2/3)
sOq © RJL b (SUS304 48 DEAMIRE 0,=.0,/ V3 £T5
<Oy 1 7RJL - (SUS304 48 L) DIRAEIER RERE 0, = 205 (N/mm?)
WAy o R RO CEEBMERE ()
Og : AVIUV—FOXERE 0, = 0.5/ (Fc - Ec) = 427. 8(N/mn’) TEHET S
Fo' :  av/U—tOREEAERE Fo = 30(N/m?) THET S
Ec ' aAYIU—bOVYUYEE Ec = 2.44x10°(N/m”) THET B
AP 1 A Y — FOMEETERE (m?)
Oy o A—RBHRICNTH3 09— FDBIRMEME o, = 0.31/Fc = 1.7T(N/m?) THET S
Ae ¢ VY )—bOI—UREER (FAKNAAORE OFMKEEEZEE M) KTRSR)

1. FEEAMBTEDEGE

(1) RIL FEFBEABRREDSE
M1 ORI EDREEMEIE A, = 58 (m?)
EHITER 0, = 1/3 % (205 / 4 3) * 58 = 2288 (N)

2. 3(kN) (> 235kgf)
EHRER Q0 = 1/2 % (205 / ¥3) * 58 = 3432(N)

3.4 (kN) (3¢ 347kgf)

(2) avy)—FrXEREIZKEA HP— FE#@%A;&'EHE@%%'-
Ao —FOME O 1 4WEE LA, = 153 9(mm2)
EHATBIERF 0, = 1/3 % 427.8 * 153.9 = 21946 (N)
SEEATTERF 0, = 2/3 * 427.8 * 153.9 = 43892 (N)

1.9 (kN) (3% 2235kgf)
3.9 (kN) (3% 4480kgf)

Q = Min(Q, Q) & YEFBEAMTEIL. RYFER 2.3KN) . EHFER 3. 4KN) T 5,

2. BAMAARBEOI—VIRBIREZR LAY HETEOFHE

AYHETEE c(mm)ET B, )T EKY Q3= 1/3 % 1.7 % (0.5 * 3.14 * c?) > 2288(N)&755 c ZEHE T HE. ¢ > 51(mm)&H 5,
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